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Aryana makes bracelets for her friends.  She used 8 red beads, 9 blue beads, and 2 pink beads to make a bracelet for Arianna.  How many more beads did Aryana use altogether?


	
What do we know?
	
What do we need to find out?









Strategy #1:










Strategy #2:









Answer (story sentence):  

______________________________________________________________________________________________

Story Problem

Dylan has ______ glue dots.  Andrew has ______ glue dots.  How many more glue dots does Jotaro have than Dylan?

		(17, 32)                                  (22, 68)                                (47, 39)


	
What do we know?
	
What do we need to find out?









Strategy #1:









Strategy #2:









Answer (story sentence):  

_____________________________________________________________________________________________

